Frame Assembly Guide for Range V2

Name : Range V2 4IN (2. 5IN;3IN:3. 5IN)

Wheelbase:185mm (146. 158. 170)
Arm board:4mm

Other board:1. Omm/1. 5mm

3D Printing*1PCS

M2. 5%25%D4 Aluminium
tube*2PCS

2= =<
o

M2. 5%6 SCREW*2PCS

14+ WARNING!

rotating parts may cause 1njury

M2. 5%6 SCREW*8PCS

M2. 5*%20*D4

Aluminium tube*6PCS

3D Printing*1PCS

- M2. 5%4PCS
=
g= SP S CLS CLA SMPS
GZ;/,’7M2.5*6 SCREW*2PCS

j

M2. 5%8 SCREW*4PCS

M2. 5%10 SCREW*4PCS




